e iR
[2014%]

FR25FEBSEILERIGHILHES

TR26538 228

AR RS

3 E4=] C2L: 1] P 50 8% B | IEfk ik Kz
5 iz zR a5 [1+ 12m22 =
5 Mgtz zlg xE [1+ 30m58 El=Ei] BEn
] NI—E|FE HIX 2+ 46m43 E
E: NR—R|R2ZR HaE |1+ 35m35 HOH BEn
9 faff|<H BEXE 1+ 10m67 =
S FgxER BF 1+ 27mO01 Bh
= NR—BIBKR BF 1+ 38m28 HO#H BEn
g4 ER|ZH BEX 1+ 35m48 s

B1RLERFXNFERS

FR26E4A5H

LEREXRE

% E4=] C2L: L] P kg B | IEf ik Kz
g9 EMEEE|ARRE F1E 3 4m66|[+ 2.3 £
S EIEEk|TH B4 2 4m94|+ 1.2 £1)
£ 100m|KE F1E 3 14” 32|+ 0.2 £
£ 100m|&ZH E4X 2 13" 22[+ 1.0 £

ER26EER1RLEERITEBRERS

ER26548128

AR RS

3 E4=] C2L:1] P 50 8% B | B ik Kz
5 RN ZRE HE 2 12m89 £1)
5 AR 2RE a7 | 2 32m55 HO#H =)
5 NI—E|FE HIX 3 47m79 £1)
£ RBAER|IER BF 2 10m05 £l
9 Mgk R HIE [ 3 24m41 £1)
S NR—BIBKR BF 2 38m61 =El=k i =P
9 Eix|iEtE B | 3 35m34 £l

F2MEERFRFRERE

TRi26454812H

LEREKRE

3 2 H C2X:0] P 508k BA | IEfL B%E KiE
=9 100m|ZH B4 2 13" 44|+ 1.0 Bh
= ENEBk[ KRR FE 3 4m79|+ 1.2 B
S EIEEk|TH B4 2 5mO04|+ 1.1 Eh
£ =BREk| KR F1E 3 10mO06| - 0.2 Eh




ErRk26FEEFR{LEEHES
ERk265E4H19~208

ITAFVREICT L
i 1] B FE Ok BA | NERL i PSS
5 Tt |2’ KE | 2 12m48 21)
5 AR 2R KE | 2 34m54 BC# £Y
x 100mH|&®H B4 2 15" 57| - 03 2
LS 400mH|%H E4% 2 1’ 04" 85 £
& EMRB| AR FIE 3 4m84| - 05 £1)
& E=oM|EH B 2 1m45 £l
S fAE|ER BF 2 10m78 BC# £
z FatLis| Kk SR | 1 7m55 15 =Y
S ALz |igg ¥ 1 8m74 A5 =Y
= H#gxER BF 2 30m44 Bo#H 21U
z % | KE SR | | 16m09 A5 =Y
& Mgz |E2 % 1 21m53 5 £1)
X BB E HE | 3 36m31 2
& BiR|ZH BEXE 2 35m71 21
S B[ BRAE 1 28m06 5 2

F67ELBHERSERETE LRERTHEAS
FH26%5A1-2-48

LERZDT L
{3 E4=] GL: L] P SCER B | B && Kz
5 AR ZR HE 2 13m41 R1|BE#H N
2 AAER|HEE XK 3 8m65 &30 BEn
5 M| ZE HF 2 33m29 A8 |BE#H EN
5 I PN 3 3F EAL
5 NR—#|FE AKX 3 48m63 R1|BC#H BEn
5 NI—E[EZZ2IR KF 2 38m32 R7 |BE#H N
£ 100mH|ZH B4 2 15" 37|-06 | ¥1 |BCH Bh
9 100mH|ZH B4 2 15”7 42| - 09 | R4 N
S 400mH|ZH B4 2 1’ 05” 89 F1 BEh
£ 400mH|%ZH E4% 2 1" 03" 70 k2 BEN
g4 EMEBE| AR FIE 3 5mO05|+ 15 |R10|BE2#H Ei
=9 EEB| KRR FIE 2 1m30 k18 BEn
gy REiRER BF 2 10m31 A3 Ei
9 AKXk FGeE | 1 8m82 R7 |BCH BEn
=9 REiR|iEE ¥ 1 9m76 AR5 |BCH Ei
S FgxER BF 2 33m47 R1|BE#H AL
= Mi%[EE ¥ 1 26m63 AR5 |EC#H BEn
g9 Migx(ELR HIE [ 3 20m77 R17 AL
S we&k(EER B | 3 39m56 R =
g4 B[+ mE 1 28m73 R12|BEH a1
S IR\ KE SGE | 1 21m42 R4 |9H5 BEhn
9 tiEmi|ZH B4 2 46718 R1|BE#H BEn
£ 100mH|ZH E4X 2 15" 42| - 1.7 BN
=9 EEk|EH BEXE 2 1m47 BEh
9 faff|<H BEXE 2 11m23 Bo#H EN




g4 200m|&ZH B4 2 26” 70| - 0.7 EF=Ei] N
S EiEk|=H B4 2 4m98|+ 1.2 BEh
9 ER|%H BEXE 2 38m42 Bo#H EN
£ 800m|&ZH E4X 2 2’ 24" 94 Bo#H BEh
BFI4—ILFDER F6HL (187
TFREDE FahL (524)
TFI4—ILEDER FE16L (32:)
E26EF2MAERIRB RS
TR265E5H86H
FAEE 3RS
3 2 H £ Al S 50 8% B | IEf ik P53
5 faifE|ZeR kE | 2 12m72 BEh
5 H#gix|fZ2lf Jta | 2 34m19 Eh
5 NY—E&|FE HIX 3 48m15 i
£ AL KE FeE 1 9m11 EI=%i EN
= RAREE ¥ 1 9m53 AL
= Mig%(ELR B | 3 29m19 El=Ei] BEn
g4 MERREE ¥ 1 26m99 BHOoH Ei
9 NR—BIBKR BF 2 40m35 BHOH BEn
9 NT—3F| Kk FieE 1 17m36 5 N
S BE(+) BwmE 1 24m13 BEn
E26EBIMEERIREBSERES
TR26558 188
AR RS
3 E4=] C2L:1] P 50 8% B | B ik Kz
5 RN ZRE FE 2 13m16 =N
5 M| 2zE KF 2 35m19 El=Ei] BEn
5 NY—E|FE HIX 3 50m12 BHCoH BN
£ AT |KiE FGE 1 8m88 BEih
=4 RAR|EE ¥ 1 8m62 =
S MEREE ¥ 1 26m71 Eh
9 NY—ER[IBKRK BF 2 39m33 BEih
g4 NT—F|KE FieE 1 24m82 Bo#H BN
z Bik|ELE Bl | 3 37m12 BB
g9 &+ mE 1 27m54 =N
BIALERFXFERS
T 26558240
LERFRE
k3 &2 H C2X:0] P Ekd BA | B &E Kz
9 100m|ZH B4 2 13” 28[+ 1.2 En
S ElEEk|RE FIE 3 5m29|+ 25 Bn
£ EEk|ZH B4 2 5mi12|+ 2.1 BEih
g4 EiEk|ZH B4 2 5m11|+ 1.7 En
S =ZERBE|RIR FTE 3 10m98|+ 1.0 HOH BEn




FO7THLAEBREFERBSHFTASME Lt
TR264F58308~6818

LEBEYT7—F
3 E4=] C2L: 1] P 50 8% B | B ik Kz
5 RN ZRE FE 2 12m97 R2 =
5 M| 2zE KF 2 35m52 R4 |BC#H BEn
5 NY—E|FE X 3 49m67 FA N
(3] NR—IR|RZIR JtaE | 2 35m41 #®13 Bh
9 100mH|ZH B4 2 15” 35+ 1.3 | ¥2 AL
S 100mH|ZH B4& 2 15” 06|+ 24 | #3 BEh
£ 100mH|&ZH E4X% 2 14” 87|+ 33 | k6 BEn
£ 400mH|ZH E4% 2 " 06" 65 F1 N
£ 400mH|ZH E4X% 2 " 05" 61 #£2 BEh
£ 400mH|ZH E4% 2 " 03" 04 R2 N
S ElEEk|RKE FIE 3 4m75(+ 1.1 | R20 Eh
9 EE B ARE FIE 2 FOERAEL Ei
g4 AL KiE FGE 1 9m37 k8 |HC#H Bl
=9 REAEER EF 2 10m39 R4 BEn
= RAR|EE ¥ 1 9m80 #R7 |BCH Ei
S H#EER BF 2 34m23 R2 |BCH BEn
=4 MR = | 3 30m42 #R7 |BSH B
S MREE ¥ 1 27m72 RO |BCH BEh
9 Eix|EtRE B | 3 40m04 R5 BEn
g4 &+ BmE 1 26m27 k28 AL
S tiEmi|ZH BEX 2 44818 R1|BC#H BEn
g9 100mH|ZH B4 2 15” 18|+ 06 == N
S ESEk|ZH B4 2 1m40 B
9 faf|<H BEXE 2 10m74 ENn
g4 200m|&ZH B4 2 26” 19|+ 3.3 AL
= FEigkk|ZH B4 2 4m68[+ 1.2 Bh
S Bix|&xH B4 2 37m10 Eh
£ 800m|&ZH E4X 2 2’ 28”7 92 iy
BFI4—ILEDE HESHL [(20:)
TFHREDER E546L (391]
TFI4—ILEDER FE261 (211)
ER26FELERRFFERELRERF 1 mEHRS
ER265E6 H7H
HILEHLE
3 2 H C2X:0] P Eikad BA | B B%E KIE
9 100m|&ZH B4 2 13” 28|+ 1.1 | #85 BEn
g9 400m|&EH B4 2 58” 35 #H3 (BC#H N




FR26EEIELEE R MRS

T R2645E6A8H
AR RS
3 E4=] C2L: 1] P 50 8% BA | NELL ik Kz
5 AR\ eR dE | 2 12m64 =
5 M| 2zE KF 2 34m13 BEh
5 NY—E|FE X 3 51mO08 BHCoH BN
S faA%|ZH BEX 2 10m29 BEh
9 | Kk FeE 1 8m85 =
S RiREE ¥ 1 9m29 BEhn
9 MiEE[EE ¥ 1 26m70 i
g4 NY—E[BRK BF 2 41m62 El=k; EN
S NR—IR| KB R 1 21m16 Eh
9 ER|%H BEXE 2 36m32 =N
S BRI BRE 1 26m26 BEh
FIOLERFXFERES
ER26568 148
LEREKRE
3 E4=] C2L:1] P 50 8% BA | AL ik Kz
S ElEEk|RE FIE 3 5m03|+ 1.6 EI=ERE BEh
£ =BEk| KR FIE 3 10m74|+ 03 BEn
BO7THPERFFERELRRHKRBFIERS
ER265E6 H20H ~22H
EMEMPER NERELFHFERS
3 2 H C2X:0] P Eikad BA | IEfL B%E KIE
5 | EZzR HE 2 12m54 RO BEn
5 M| ZR 2 34m41 R12 N
5 NY—E&|FE FIXK 3 50m99 R5 Bhn
9 400mH|ZH B4 2 1" 05” 40 F2 =
S 400mH|ZH B4 2 1" 03" 60 #3 BEh
£ 400mH|%ZH E4% 2 1" 03" 34 R5 EN
g4 fAAE|ER BF 2 10m04 *R12 BN
S M#EFER BF 2 35m31 A3 |BC#H BEn
£:S BEi%|EtRE B | 3 38m82 11 AL
9 tiEmi|RH B4 2 4513m R4 |BOH (AR BEh
9 100mH|ZH B4 2 14” 91|+ 1.2 El=%i AL
g4 TS| ZH B4 2 1m45 AL
S fatix|ZH BEX 2 10m66 BEh
g9 200m|&ZH B4 2 26" 62|+ 04 ==k BN
S EiEEk|=H B4 2 4m66|+ 0.9 BEh
9 ER|%ZH BEXE 2 33m93 ENn
£ 800m|&H E4X 2 2’ 25" 06 i




SBOSEILERELRKEFIEAS

TR 2656 H28~29H
IN=V. S DN
3 2 H C2L:0] P SCER BA | NELL 55 Kix
= ENEBE| KRR FIE 3 5m27|+ 15 | ikR6 |EE#H Bl
9 = EREk| KRR FIE 3 11mO06|+ 22 | &1 BEhn
g9 AAE|ER BF 2 10m16 R4 BN
£ A% |EEZE ¥ 1 9m77 R5 BEh
9 | Kk FeE 1 9m61 e |BC#H EN
%= NR—BIBKR BF 2 40m21 BEh
9 NOT—1%| KR FRE 1 24m97 BHoH BEn
g4 BEELEE B | 2 38m47 R4 AL
= B[+ mE 1 28m43 R12 Ehn
ER26FEER2RILEERERERLRE
ER265E 78128
EHBRERR—Yt 52—
3 2 H C2X:0] P s BA | AL iB%E P53
S =ERBk| KRR FIE 3 10m50[+ 1.5 BEn
ER26EEBIENMBEIKXFERZES
FR265E7H198
L LK
3 2 H C2X:0] e SCEK BA | NELL iB%E Kix
2 A zRE ka7 | 2 13m05 Bh
5 M| ZE HF 2 32m52 ENn
5 NR—EZ|FE AKX 3 50m63 AL
S 200m|&ZH B4 2 26" 36|+ 15 BEh
£ 200m|&ZH B4 2 26" 94|+ 14 BN
S 400m|&ZH B4 2 1’ 00” 25 BEh
£ 400m|ZH B 2 1’ 01" 34 Eh
£ =EREk| KRR FTE 3 10m43|+ 23 =g
£ =BEk| KRR FIE 3 10m32|+ 0.2 BEn
g4 RAR|EE ¥ 1 9m32 =
S M#EEER BF 2 31m36 BEh
gy MRREE ¥ 1 30m84 EI=%i Ei
Ees NR—BIBKR BF 2 40m54 Eh
9 NT—F| K FieE 1 30m80 EI=%i AL
= E%|iELER HE | 2 37m97 =h
BARLERFXRFERES
TR265E7H268
LEREFKRE
3 E4=] G=L:0] P g BA | NELL ik Kix
S =B KRR F1E 3 10m60|+ 2.3 Eh
£ =Bk KR F1E 3 10m33|+ 1.2 BEh




BO7THZESFFRELERNKREFIEXS

TRi26E7HA28H~8H2H
IR ER R AT L
3 E4=] C2L:0] 50 8% B | IEfk Kz
5 NY—E|FE X 3 52m34 #H10 |BHCH AL
9 400mH|ZH B4 2 " 03” 40 7 Bh
£ F#gxER BF 2 32m98 #H26 =
FO2RLEBIEEESFEREFE LRREFIEXS
Tr26%8A7~8H
[LERZDT L
{3 E4=] G211l P SCER B | B Kz
5 AR ZR HE 2 12m45 PR3 EN
2 k|22 a5 | 2 32m08 R4 Bh
5 HER|IEE X 3 22m57 k16 EN
5 NY—E|FE X 3 51m60 R EN
= 400m|&H B4 2 58" 23 R4 |BCH BEn
£ 400mH|%ZH E4% 2 " 03" 61 R2 N
S EEHEKRE FIE 3 4m87|+ 1.8 | k8 Bn
g4 aik|EE ¥ 1 9m56 k2 B
S k|t WA 1 7m59 11 BEh
9 % [EE ¥ 1 32m32 R1|BE#H BEn
g4 Migx(ELR HIE [ 3 27m41 R5 BN
S k(e R B | 3 38m49 R2 BEh
g9 &+ wmE 1 25m52 R12 N
BFI4—ILEDE HE76 (192)
F561 (394)
RFI4—ILEDER FE26L [(273)
FO7TEIPEARE LFEFEHREFIEXES
FR265£8H23~24H

WO B EL S oEE RS

3 E4=] C2L: L] P SCER B | B Kz
S 400m|&EH B4 2 " 00” 37 ¥ 2 N
£ 400m|&EH B4 2 59” 15 R5 BEn
= EMEBE| AR FIE 3 5m18| - 0.1 |R15 B
S =ERBE|RIR FTE 3 11m32|+ 03 | &1 |BE2H 5§
9 i<l BEXE 2 10m53 R8 55
g4 fAAE|ER BF 2 9m87 #R13 5§
£ Rk |EE ¥ 1 9m24 R17 55
g9 NY—E[BERK BF 2 41m92 PR3 Bh




FOSMLAEREFERMNELRREFIEXS
ER26FE8A30~31H
o imBE BN B BE RS

3 E4=] C2L: 1] P 50 8% B | B ik Kz
5 RN ZRE FE 2 12m78 R3 E
5 Mgz 28 JtE 2 30mO09 R11 BEn
5 NR—1E%|FE K 3 49m55 FA N
S EMESEKRE FIE 3 5ma42|+ 21 | R1 BEh
9 ENEEk|RKE FIE 3 5mO09|+ 1.9 EN
S RiREE ¥ 1 9m47 R4 Bh
9 | KE FeE 1 9m19 R5 BEn
g4 Mk EE ¥ 1 33m10 2 |BE#H BN
S k(e R B | 3 35m41 R4 BEh
= B WE 1 soEx7EL Ei

BFI4—ILEDER F74 (1453:)
TFHE $£6f (294)
TFI14—ILEDE 261 (294])

F2OZERFERZE LRRBRAE
TH2648 A30A~8A31H
R & EE LS

3 E4=] G=L:0] P SCER BA | NELL ik Kz
g4 tiEmi|RH B4 2 46055 R13(BCH B
E:S 100mH|(ZH B4 2 15”7 04| - 04 Eh
g9 T dk|EH B4 2 1m45 =
S fAA%|ZH BEX 2 10m53 BEh
9 200m|&HA E4XE 2 26" 69|+ 2.1 s
= EiEdk|ZH B4 2 5m00|+ 0.9 En
= B|%<H B4 2 34m82 BEh
£ 800m|ZHA E4% 2 2" 23" 71 BO#H Eh
Ees NY—E[BKRK BF 2 41m66 #H8 |&2AD14%FR Bh




FAOLEBESEFFRMAZE LREEFIELS

Trk26E9RA6B~7H
RERZDT L
3 E4=] C2L: 1] P 50 8% BA | NELL ik Kz
5 RN ZRE FE 2 12m77 R AL
5 M| 2zE KF 2 32m71 R4 BEn
£ 100mH|ZH E4X 2 15” 62| - 16 | F1 N
£ 100mH|ZH B4 2 14” 59|+ 16 | R1 |BEH BEh
9 400mH|ZH B4 2 1" 06” 14 F1 N
S 400mH|ZH B4 2 1" 01” 83 R | RK=FH-BCH Bh
=9 REAZER BF 2 10m46 #R1 BEhn
g4 AT |KiE FGE 1 9m49 R3 BN
S % [EE ¥ 1 33m74 R2 |BC#H BEn
£ H#gxER BF 2 31m96 R3 EN
S BRI BRE 1 29m94 ko |BC#H BEhn
9 B KiE FGE 1 16m14 R23 |¥H5 EN
BFI4—ILEDE 8L [(13:)
RFRE E56L (46:]
TFESVIODE  EL8hL [(16:4]
TFI—ILEDE & B (30:)

ESOLEREFFRMAR LRREFEXS

TIR26%E9A20~21H

RERZDT L
3 i =] £ Al e SCEK B | B ik Kix
2 A zRE ka7 | 2 13m23 #R1 Bh
5 M| ZE HF 2 30m31 R8 EA
g4 100mH|ZH B4 2 15”7 02|+ 01 | F1 AL
=9 100mH|RH B4 2 14" 50|+ 1.2 | iR3 |BHE#H BEn
£ 400mH|%ZH E4% 2 1" 06” 37 F1 N
9 400mH|ZH B4 2 1 03” 13 R B
9 AAE|ER BF 2 10m88 R1|BE#H N
S AR\ KiE FGE 1 9m81 R2 |BO#H Eh
=9 HERIER BF 2 33mb54 HR2 BEhn
g4 Mk EE ¥ 1 33m31 PR3 BN
= B[+ mE 1 29m28 R12 Ehn
ZTFHRE Fahr (424)
TFI—ILEDE F146L (28]
F8EBAARI-AE LR EFIEXS
TH264£1083H~5H
BHEREEE A RE LRSS
3 E4=] C2L:1] P 50 8% B | B ik Kz
S 400mH|ZH B4 2 EiE i
=9 NY—ER[IBKRK BF 2 43m06 AR5 |BCH BEh




B23EPESFERMAR LREMNEEFEAS

] L R B E B 5

TR26%F10811H~12H

3 E4=] C2L: 1] P 50 8% BA | NELL ik Kz
5 RN ZRE FE 2 13m17 R4 AL
9 100mH|RH B4 2 14” 84|- 03 | %2 BEn
£ 100mH|ZH E4X 2 14" 82+ 08 | ®R4 N

S 400mH|ZH B4 2 EIE
9 AAE|ER BF 2 10m95 A5 |BE#H N
S AT\ KiE FGE 1 9m40 R11 BEhn
=9 HERIER BF 2 33m97 R5 BEhn
g4 MRREE ¥ 1 33m46 R7 BN
ER26EEFORLERITEMERES

ER26FE10818H

FAERE L3S

3 E4=] G=E:0] FCER BA | IELL ik Kz
5 AN ZR HE 2 13m43 == N
S Mig%[EE ¥ 1 33m48 BEh
9 NI—E[BEKRK BF 2 43m36 Bo#H AL
S NR—IR|KEE iR 1 32m70 =El=E ] Bh
9 BRI BRE 1 29m90 BEh

ER26FELERRFFERELRRFBImEHRES

TRL264E108 258

VATEENEE RS

3 2 H C2X:0] ST BA | IEfL B%E KIE
S MiE%ER BF 2 33m44 BEih
g4 MHERREE ¥ 1 34m82 El=ti Ei
S BT BRE 1 29m63 BEhn

SRizERRE

FR265E11818

BIRERFLE

3 2 H C2X:0] SCEK BA | NELL ik Kix
2 A zRE ka7 | 2 13m11 £
=4 MiEE[EE ¥ 1 31m91 =)
g4 NY—E[IBKRK BF 2 43m96 B =Y
9 NOT—F| KB FieE 1 34m03 E=%i] =)
= B WE 1 31m19 ==X =Y

BTRLEREFXNFERS

FRE265E11H8H

LEREFRE

{3 E4=] G=L:[] SCER B | & &E Kz
Eigk|ZH B4 4m91|- 15 £




FR26FER7HILERIGWBILHRE

ER26%E11 898

FEEE RIS
3 5= £ Al P Eikad BA | B B%E Kz
5 | EZzR HE 2 13m20 IS5
5 M| ZR 2 31m50 55|
5 NY—EEZZI] HF 2 40m49 ==k 5]
=4 MRR|EE ¥ 1 33m05 5]
= NR—BIBKR BF 2 42m86 5]
9 NI—F| KB FieE 1 33m53 55|
g4 &+ BmE 1 26m75 55




